
SAP ABAP table RIHQMEL {Display structure reporting for QMEL}

RIHQMEL

QMNUM [CHAR (12)]

IWERK [CHAR (4)]

TPLNR [CHAR (30)]

SWERK [CHAR (4)]

KOSTL [CHAR (10)]

ABCKZ [CHAR (1)]

GSBER [CHAR (4)]

ANLNR [CHAR (12)]

ANLUN [CHAR (4)]

STORT [CHAR (10)]

BEBER [CHAR (3)]

EQUNR [CHAR (18)]

BAUTL [CHAR (18)]

MAUEH [UNIT (3)]

BTPLN [CHAR (30)]

BEQUI  [CHAR (18)]

AUSWK [CHAR (1)]

ANLZV [CHAR (1)]

ANLZN [CHAR (1)]

ANLZE [CHAR (1)]

INGRP [CHAR (3)]

QMART [CHAR (2)]

BUKRS [CHAR (4)]

ARTPR [CHAR (2)]

PRIOK [CHAR (1)]

WAERS [CUKY (5)]

AUFNR [CHAR (12)]

KUNUM [CHAR (10)]

RBNR [CHAR (9)]

ILOAN [CHAR (12)]

VBELN [CHAR (10)]

SPART [CHAR (2)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

MANDT [CLNT (3)]

OBJNR [CHAR (22)]

KOKRS [CHAR (4)]

KDAUF [CHAR (10)]

KDPOS [NUMC (6)]

VKBUR [CHAR (4)]

VKGRP [CHAR (3)]

ANLA

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

ANLN1 [CHAR (12)]

ANLN2 [CHAR (4)]

 RIHQMEL-ANLUN = ANLA-ANLN2 
0..N

0..N

ANLH

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

ANLN1 [CHAR (12)]

 RIHQMEL-ANLNR = ANLH-ANLN1 
0..N

0..N

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

 RIHQMEL-AUFNR = AUFK-AUFNR 
0..N

0..N

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

 RIHQMEL-KOSTL = CSKS-KOSTL 
0..N

0..N

EQUI

MANDT [CLNT (3)]

EQUNR [CHAR (18)]

 RIHQMEL-BEQUI = EQUI-EQUNR 

0..N

0..N

 RIHQMEL-EQUNR = EQUI-EQUNR 0..N

0..N

IFLOT

MANDT [CLNT (3)]

TPLNR [CHAR (30)]

 RIHQMEL-BTPLN = IFLOT-TPLNR 
0..N

0..N

 RIHQMEL-TPLNR = IFLOT-TPLNR 0..N

0..N

ILOA

MANDT [CLNT (3)]

ILOAN [CHAR (12)]

 RIHQMEL-ILOAN = ILOA-ILOAN 
0..N

0..N

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 RIHQMEL-KUNUM = KNA1-KUNNR 
0..N

0..N

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 RIHQMEL-BAUTL = MARA-MATNR 
0..N

0..N

ONR00

MANDT [CLNT (3)]

OBJNR [CHAR (22)]

 RIHQMEL-OBJNR = ONR00-OBJNR 
0..N

0..N

QMEL

MANDT [CLNT (3)]

QMNUM [CHAR (12)]

 RIHQMEL-QMNUM = QMEL-QMNUM 
0..N

0..N

T000

MANDT [CLNT (3)]

 RIHQMEL-MANDT = T000-MANDT 
0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 RIHQMEL-BUKRS = T001-BUKRS 

0..N

0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 RIHQMEL-IWERK = T001W-WERKS 

0..N

0..N

 RIHQMEL-SWERK = T001W-WERKS 0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 RIHQMEL-MAUEH = T006-MSEHI 
0..N

0..N

T024I

MANDT [CLNT (3)]

IWERK [CHAR (4)]

INGRP [CHAR (3)]

 RIHQMEL-INGRP = T024I-INGRP 0..N

0..N

T352B

MANDT [CLNT (3)]

RBNR [CHAR (9)] RIHQMEL-RBNR = T352B-RBNR 0..N

0..N

T356

MANDT [CLNT (3)]

ARTPR [CHAR (2)]

PRIOK [CHAR (1)]

 RIHQMEL-PRIOK = T356-PRIOK 
0..N0..N

T356A

MANDT [CLNT (3)]

ARTPR [CHAR (2)]

 RIHQMEL-ARTPR = T356A-ARTPR 

0..N

0..N

T357

MANDT [CLNT (3)]

WERKS [CHAR (4)]

BEBER [CHAR (3)]

 RIHQMEL-BEBER = T357-BEBER 

0..N

0..N

T357A

MANDT [CLNT (3)]

AUSWK [CHAR (1)]

 RIHQMEL-AUSWK = T357A-AUSWK 

0..N

0..N

T357Z

MANDT [CLNT (3)]

ANLAZ [CHAR (1)]

 RIHQMEL-ANLZE = T357Z-ANLAZ 

0..N

0..N

 RIHQMEL-ANLZN = T357Z-ANLAZ 

0..N

0..N

 RIHQMEL-ANLZV = T357Z-ANLAZ 

0..N

0..N

T370C

MANDT [CLNT (3)]

ABCKZ [CHAR (1)]

 RIHQMEL-ABCKZ = T370C-ABCKZ 

0..N

0..N

T499S

MANDT [CLNT (3)]

WERKS [CHAR (4)]

STAND [CHAR (10)]

 RIHQMEL-STORT = T499S-STAND 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 RIHQMEL-WAERS = TCURC-WAERS 

0..N

0..N

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 RIHQMEL-GSBER = TGSB-GSBER 

0..N

0..N

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 RIHQMEL-KOKRS = TKA01-KOKRS 

0..N

0..N

TQ80

MANDT [CLNT (3)]

QMART [CHAR (2)]

 RIHQMEL-QMART = TQ80-QMART 

0..N

0..N

TSPA

MANDT [CLNT (3)]

SPART [CHAR (2)]

 RIHQMEL-SPART = TSPA-SPART 

0..N

0..N

TVBUR

MANDT [CLNT (3)]

VKBUR [CHAR (4)]

 RIHQMEL-VKBUR = TVBUR-VKBUR 

0..N

0..N

TVKGR

MANDT [CLNT (3)]

VKGRP [CHAR (3)]

 RIHQMEL-VKGRP = TVKGR-VKGRP 

0..N

0..N

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 RIHQMEL-VKORG = TVKO-VKORG 

0..N

0..N

TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]

 RIHQMEL-VTWEG = TVTW-VTWEG 

0..N

0..N

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 RIHQMEL-KDAUF = VBUK-VBELN 

0..N

0..N

 RIHQMEL-VBELN = VBUK-VBELN 

0..N

0..N

VBUP

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

 RIHQMEL-KDPOS = VBUP-POSNR 

0..N

0..N


